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Math 102-001 Fall2015  Quiz #1

1. An object is heated at a constant rate. At time t=0, it4s temperature is T=16.2°C. Every hour
the temperature rises by 0.4°C. [ 8 marks|

a) Write an equation to express the temperature T in terms of the time passed t.

T= 162 ~o0kLt

b) Use your equation to find the temperature after 6 ¥2 hours have passed.
(use a full sentence for the final answer)

VT Y= 6.5
THev T2 W2+ (o.l\)(é-B) = 8¢

AFTER. 6'h Houkd  THE  TemeenisRe 'S 8,97 C

¢) After how many hours will the temperature of the object reach 30°C?
(use a full sentence for the final answer)

ey 1T=30
Sove Ao = 162+ oht
129 = O 4k
o= 345

TWE  TEMPeaTuRE WL REACH 20 ATTEER  2RL.E Nouf,

d) A second object is cooled at the same time. Its temperature (T,) is modeled by the
equation T,= 26.4 - 0.8t

After how many hours will the two objects have the same temperature?
(use a full sentence for the final answer)
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2. [12 marks]

a) Write as a single fraction: (HB’_ — l) + i
2 3 3

= 3 — % X —3- = E w }& - ,—-—7—_

6 6 4 6 4 <

3

¢) Factor completely: 2x% —32x°

= Ax ( %A—\Qa)
= Q_><2<&1—4>(xl+4)

= Ax° (x—l) (xfz)(x?ﬂrl«)

(3x’y™)2xy*)

d) Simplify: o 4y45
2 =1 3 é) 2)-* XS 5
- (3 3.):{8:3 = el = by
) X
G Xy 2
e) Solve for x: 3x* +x=2
. 2
23y x -2 =0
(2x & 2)( % +\> = QO
3 OR  VsE
X = é AND X = - OYUADIATLC ‘\:—OQMULAl
3 2
1) Solve for x: =

2(:z><+t)

Lx -3 = Lw v 2
5
X = -5
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